(1) 2a+3b+4a—>5b

(2) 2(3x —4y)

(3) 7x+3y—(x—6y)

- =3 1 H H
FrLoUL— D EE o
HL It G HH %
Paran A > = /5 EEZ’
H o2 [LoitE)] O
8 1
1 WOHIENXIZHOWT, TO/RKEREEZEZ L,
(1) —3ab2 (2) 0.1x3 (3) E
(1) (2) (3)
"¥ —3 W 3 Z¥ 0.1 Ww¥ 3 (K Lo %
5
2 WMOLHEXITHOWT, HEZORE, REEEZ X,
(1) 5Ha2—3ab— 7b2 T8 5a? —3ab — 7b2
=¥ 5 —3 —7
& 2 2 2
(2) 6x2+5x—3x4—1 1A 6 x2 + 5x — 3x4 —1
%45 6 +5 —3
/4 2 1 4
3 WOFHEZ LI,

(1)
6a—2b

(2)

6x — 8y

6x+9y




H JG it HH &
K4
#2757 [XoFE] ©
14 1
1 ROFHBEEZ LRIV,
(1)05x+y—(12x=7y)  (2) —E(Sa—zb) (8) x24+3x+1—(=2x%+3x—4)

(1) (2) (3)
—0.7x + 8y —2a+b 3x2+ 5

2x-3y x—4y

(4)2(x —2y) —3(4x = 3y) (5) (6)5x% +3x + 1+ (—2x% — 3x — 4)

4 3
(4) (5) (6)
~10x+ 5y 2x1+27y 0t 3x% - 3
17
gX‘FEy
(1 2x—%— x—52y (8) —3abx 2bx (—2a)2  (9) (2xy?)2x (—%xy)
(7) (8) (9)
27x +y . 2 i —24a3h? —3x3y5
e F 21T, 5x+15 y

(10) 4x2=2xy x 3y? (11) (—4a?b®)2+2a3b* x (—ab?) (12) (gxzy)2+(§xy)2

(10) (11) (12)
6xy —8a’b* 16x2

2 WOXDEEZRDZIV, x=-3, y=5 DL x

(1) 6x%yx %y = (=3xy) (2)  8x%y+6xy X (—3y)

(1) (2)
10 60






